EAGRAROBREERT — 2 N— IBISH —F

202178268 (A) 5mEEF3H

) rs22588757-0-F8 C ¥5%—#&

0

‘ [R1&] & ‘ [REBB] — | & (&) 14000 B

[A~&£] 1 7% :1,000,000  ~ 23 :350,000 ™ 37 :200,000H™

4 7% 150,000 F . 5 3& : 100,000 M

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
D R # o5 | AEF 1:28.9 3-3-1-1 [39.4| — 1 517 | EO—FRR ()
171714723y b 56.0 = (-3 | A8 K
R:TVHAZXIL R B:=P/FFoa SRS
PSS 5 | EEHT 1:29.2 7-5-3-3 [39.3| — 4 546 | /NARE ()
» 9|77V ITx—7 56.0 (11/2) (-3) B
R:wYULTyk BiAVE—FEREX BEZ %Y K
S N 4 4 | RES 1:29.3 4-4-4-4 [39.4| — 3 443 | TEE(REE (A7)
sl 4 | FTIT>TRIRR 540 (76 4e) | W0 TTI>F
L:¥r/0704 B:AITCNFIXF puie ]
S o= o7 | BHE 1:29.8 2-2-2-2 | 40.3| — 5 510 | /AVERR GEF)
415|5 AT AT L 56.0 (2 1/2) (+4) 51%53
:Aa—-xT>7Y> B:N—=Tx7RTI— FrEF T —L
a7 o7 | HEER 1:30.6 8-8-6-5 |40.1| — 7 495 | FEAIER (AF)
508(10 AL—XT v X 56.0 (4) (-4) EEE
L.A—-xI>9U> B:I77a1-Y3ar BHT7— L
=57 o S it 6 | BRE 1:31.4 6-7-7-6 | 40.5| — 2 482 | BS5EE] (7BAN)
EH 3| 77V—2%y¥a 54.0 @ o) | B J PN
R:Z2 kAT UE—2 BHATILEY A OER
. s = FhITHRR : —11-9~ - gy GaFn)
717l g| 7r%¥-v2235 o4 e 1.(311>.6 11-11-9-9 | 40.5 10 (4_611) e
R:TYUSETyR BITUR-T AR
. Btk : ~6-8- - BRI (GAF)
8 6| X1 aINnvyFy 5 =k 1(53/14)7 5-6-8-8 | 41.0 8 (4324) SFH}:{%
R:Y=Z24—-3=224— B:TIyF¥-TVU—-F i —%F
N PinEZilEo :32. -1-5- . — IREA (GEFN)
9111 P E ) "4 A53.0 1(332)3 1187 42.6 ’ (4:3 ;é#%@?l
L:7x/—*/ B:7r¥a/NnF EENIS
. 5 it 4 | BAER 1:32.3 9-10-10-11 | 41.2 | — 6 415 | FIUES (E)
10/8|11|F>3F->avIv 54.0 (") o |EOms
R:ANT =G BATLU—TN—X HET7—L
. hERE . -9-11- — IR ()
1 > a5 )19y 4 4 e 1.(322>.7 10-9-11-10 | 41.4 1 <4+154) b=t
R:I—->Y—514> B:L¥YH ESiTie]
® I —F—EBIERL
13=7r= 1,5,7,4,6,3,9,10,11,2,8
2= = 1,5,7,4,9,6,3,10,2,11,8
Jol=5r= 7,5,9,4,1,10,3,6,8,11,2
43—+ — 7,5,9,4,10,3,1,6,8,2,11
[ RNz
BB 7 250M 74K 7-9 380M e 6-7 650M JEHE 4-7-9 1,380H
8 B 7 1209 4-7 270M B 6-7 1,000 K31 7-9-4 4,950
9 160/ 4-9 370M B E 7-9 790
4 140 B H 7-9 1,080M

ARICOVWTRDTEEERROODE. TR LIV,




